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&5 X 4 .(%r,s 'Furrm\(z)cbﬂliﬁﬁ jj(gilicf)é X 4 Tumﬁﬁgﬁ;qu '?né){ jj(gzlicn%é X 4 .(%r,na; J:umb\(z)@tt.% jj(gzlicn%é X 4 _tuﬁﬁfJ\(:)O)ttl% .?5 b(ﬁj/tf)é
; 100kN/mM%Z#8B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#Z % — - ~ — —|3mZE#BZ B -~ — — —
Lt 1.00 1 000 ~ 476 59.32 | #hS (000 ~ 476|177 9.47 znLs 1.00 | 5.00 ~ 56.00 59.32 | #nst | 5.00 ~ 5.0011.77 9.47
2 100kN/m%#82 5| 1.00 | 0.00 ~ 1.31 119.84 |3mZBRB| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 10564 ~ 1470 119.84 |3mE#ZS -~ — — —
Lt 1.00 | 1.31 ~ 9.09 100.00 | =nllsy | 000 ~ 9.09| 221 11.83 znLs 1.00 | 5.00 ~ 10.54 100.00 | =N | 5,00 ~ 1470|221 11.83
P 100kN/mM%#BZ25 | 1.00 | 0.00 ~ 204 131.48 |3mZBRB| — ~ — — — | 100kN/mi%E#Z5 | 1.00 | 1085 ~ 1834| 131.48 |3m%E#Bz3 -~ — — —
Lt 1.00 | 204 ~ 982 100.00 | =nllst | 000 ~ 982|252 153.48 znLs 1.00 | 5.00 ~ 1085 100.00 | =S | 5.00 ~ 1834|2562 13.48
4 100kN/m%Z#BZ5| 1.00 | 000 ~ 165| 12531 |3mEBZB| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 1053 ~ 1627| 12531 |3m&E#BZS -~ — — —
ZznLst 1.00 | 1.65 ~ 9.44 100.00 | =04y | 000 ~ 944|237 12.69 znLs 1.00 | 5.00 ~ 1053 100.00 | =N | 5,00 ~ 1627|237 12.69
5 100kN/mM%#BZ25 | 1.00 | 0.00 ~ 234 136.58 |3mZzBABH| — ~ — — — | 100kN/MZE#BZB | 1.00 | 1074 ~ 2227 1386.58 |3mE#BZB -~ — — —
Lt 1.00 | 234 ~ 1013 100.00 | Fhs | 000 ~ 1013] 2569 13.86 znLs 1.00 |1 6.00 ~ 10.74 100.00 | FhLSY | 5.00 ~ 2227|259 13.86
g 100kN/m%#8Z2 5| 1.00 | 0.00 ~ 201 131.01 |3mZ#BRB| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 1089 ~ 2020| 131.01 |3mZE#BZ3 -~ — — —
ZnLst 1.00 | 201 ~ 9.79 100.00 | =nllst | 000 ~ 9.79 | 2.56 13.69 znLs 1.00 | 5.00 ~ 1089 100.00 | =S | 5.00 ~ 2020 | 2.56 13.69
. 100kN/M%#BZ25 | 1.00 | 0.00 ~ 244 13819 |3mZz#BRB| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 1057 ~ 21.59| 13819 |3mE#Bz3 -~ — — —
ZznLst 1.00 | 244 ~ 1023 100.00 | #hLs | 000 ~ 1023] 266 14.22 znLs 1.00 | 5.00 ~ 1057 100.00 | =S | 5.00 ~ 2159 | 2.66 14.22
P 100kN/mM%#BZ2 5| 1.00 | 0.00 ~ 271 142.72 |3mZEBAB| — ~ — — — | 100kN/mi% #8225 | 1.00 | 1053 ~ 2322 142.72 |3mEBZ5 -~ — — —
ZnLst 1.00 1 271 ~ 1049 100.00 | EhLs | 000 ~ 1049|271 14.50 znLs 1.00 | 5.00 ~ 1053 100.00 | =N | 5,00 ~ 2322|271 14.50
9 100kN/m%#B25| 1.00| 000 ~ 215 13336 |3m&EBZZ| — ~ — — — | 100kN/M%ZE#BZ S| 1.00 | 1058 ~ 1873 133.36 |3mE#EZB - =~ — — —
ZznLst 1.00 | 215 ~ 994 100.00 | =St | 000 ~ 994 | 2.43 13.01 znLs 1.00 | 5.00 ~ 1058 100.00 | =S | 5.00 ~ 1873|243 13.01
10 100kN/m%Z#BZ5| 1.00 | 0.00 ~ 255| 139.97 |3mEBZB| — ~ — — — | 100kN/mi%E#Z5 | 1.00 | 1065 ~ 21.33| 139.97 |3mE#Bz3 - =~ — — —
Zh st 1.00 | 2656 ~ 1033 100.00 | FhLS | 0.00 ~ 1033 2.81 15.03 znLs 1.00 | 6.00 ~ 1065 100.00 | =N | 5,00 ~ 2133|281 15.03
17 100kN/m#%#BZ5| 1.00 | 000 ~ 266 14185 |3m&ERBZ3| 000 ~ 0.06| 5.04 16.28 | 100kN/m%E#B2%| 1.00 | 11.82 ~ 2463 141.85 |3mEEZB| 2000 ~ 2463 | 3.04 16.28
Zh st 1.00 | 266 ~ 1044 100.00 | FnLS | 0.06 ~ 1044 5.00 16.05 znLs 1.00|6.00 ~ 1182 100.00 | FhS | 5.00 ~ 20.00 | 3.00 16.05
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zhst ~ Zzh st ~ Zhst ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82Z % ~ ImEFEZD ~
Zh LS ~ Zhst ~ Zzh st ~ Zhst ~
100kN/m#E#BZ % ~ ImEFEZRD ~ 100kN/m%#82Z% ~ ImEFEZD ~
Zh LS ~ Zhist ~ zh st ~ Zhst ~
100kN/m#E#BZ % ~ ImEFERD ~ 100kN/m%#82 % ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZThst ~
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